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1. (15)[2. (25){3. (24)[4. (20)|5. (16) mﬁ m

Please draw a around your answers. No calculators, cell-phones, notes, etc. allowed.
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2. (pts) Compute the followmg integrals. Show your work.
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3. (pts) This problem has two unrelated parts.

a) Evaluate the given integral or show that it is divergent.
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(b) Use the Comparison Theorem to determine whether the following integral is convergent or
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4. (pts) Suppose that z > 0.y = 0 and z+y = 6. Find the values of  and y which maximize 4x+y?.
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5. Let R be the region bounded by the curves y = 24z — 1 and y = z — 1. Write the integrals
which calculate the volumes of the solids described below. Do not evaluate the integrals.

(a) The solid obtained by rotating the region R around the line z = 7.
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(b) The solid obtained by rotating the region R around the z-axis.
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6. (pis) Given f(z) = we 2. i e o

(a) Find the domain, x-intercepts and y-intercept of f(z doma N e ﬁa _m}m)
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(c) Find the intervals of inc1eabe /decrease and local max/min points of f(z).
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(d) Find the intervals of concavity and mﬂoctwn points of f(z).
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(e) Sketch the graph of f(x). Don’t forget to indicate the intercepts, local maximum /minimum
and inflection points on your graph, if there are any.
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